WN =

©Ooo~N OOPrWN-=

APWON =

8
9.

e

M =

=

30
00

=
8

ZEHRE

£l

9o :

10:
10:

11
11

30

30
45
10
20

(BR)

13
13
13
13
14
14
14
14
14
14
14
15

15

e
=

00
15
45
55
00
15
35
40
45
50
55
00

20

xr/
g

ZBHRES

IR 1M = J

£l

=

M =

=
=)

o gk

PR

Il

o

4

g

S

gloom

#H & B 7

5 N BREEISE)
BERT

A = =

2 B = 2 HI
& £ Bl »=
2 ¥ =

1km&4 LS 7PIL CRED

1km& 1L CRES INFEDED

2kmA YT J147TaPIL/N\=Ya—F CRES. 5%

2TV T

200mO1 LRSIV CRED  (ZF)

AV« U—2CREE (1 6km)

2TV R /A RES
TAIYFE

500mA4a L 317U CRES (ZF)
500mA1 L ESA7IL CRE INFEDED)

2TV R /2R

A2y FRE (8Km)

2TV 3« ARCREY (1 @D
2TI Y RRE (10D

2TV Y k5~ RIREH
2ATIYE3 « 4RBRES (20%)
2TV R (208D
TAV)VRES

M=V (RED)
BT 20EREREKEASEMEFAR

H =

g #H K
FERIEDI—F B —X

318 (1 6#D
18
¢ 3#D
138
58
158
8% ( 4#D
138 (. 3#D
5%
13
4% ( 2#D
203
2% C 14D
2% C 148D
4% C 1#D
2% C 148D
2% C 14D
6%  1#D



